[image: image1.png]3. Classify the following PDE’s, defined over —oo < o < 00
and —oo < y < oo, as elliptic, parabolic, or hyperbolic. If
the equation is of mixed type, identify the relevant regions and
give the classification within each region.

(2) Ugg + Uy — TPUy = €7Y

(0) BUze — Uy + Yyy +3uy =1

() Ugy + Uz — 4uy = 6u




(Please solve for only part (b).)

(The problem is from Preliminary Concepts in Diffusion Equation. Let me know if there is anything unclear in the question. Thank you.)

